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(on3) o) gom 70N DM D' 60/40°C 0N D' 80/60 °C
230V-50Hz  230V-50Hz 3x400V-50Hz  60/40 °C 60/40 °C 80/60 °C 80/60 °C
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64 55 4 0.88 - 2x1” 2300 17 2x1” 12200 23 4000 B1000P
65 55 4 0.88 8.1/10.9/19 E 5 ) - - - 4500 B 1000E
51 55 4 0.88 E o - - S - - 4500 B 1000A
87 57 6 1.32 2 2x1” 3000 27.1 2x1” 13580 35.8 6000 B 1500P
92 57 6 1.32 11.5/15.5/27 - o - - - - 6750 B 1500E
72 57 6 1.32 - - = = 5 = = 6750 B 1500A
111 58 8 1.76 - 2x11/4" 3400 37.1 2x114” 14200 48.7 8000 B 2000P
117 58 8 1.76 16/22/38 - - - - - - 9000 B 2000E
92 58 8 1.76 - 5 > = 9000 B 2000A

2x1'/4” 4400 47.3 2x1'/4” 14400 61.2 10000 B 2500P
- - - = = - 11250 B 2500E

138 60 10 2.20 -
146 60 10 2.20  18/30/48
113 60 10 2.20 S

166 62 12 2.64 g
173 62 12 2.64  24/36/60
133 62 12 2.64 =

69 57 5.2 1.14 -
. 1.14  10/15/25

- 11250 B 2500A

2x11/2” 7860 58.6 2x11/” 7450 72.8 12000 B 3000P
= - - = = - 13500 B 3000E
S = = 2 = = 13500 B 3000A

2x1” 3000 19.6 2x1” 15800 26.1 5000 L 1000P

70 57 5.2 5500 L 1000E
56 57 5.2 1.14 S S - - - = = 5500 L 1000A
94 58 7.8 1.71 = 2x1” 3900 31.2 2x1” 17400 41 7500 L 1500P
99 58 7.8 1.71 15/22.5/37.5 - - - = = - 8250 L 1500E
79 58 7.8 1.71 - - = = - = 8250 L 1500A

121 61 10.4 2.28 S
127 61 10.4 2.28  20/30/50
102 61 10.4 2.28 S

151 62 13 2.85

2x1'/4” 4310 42.5 2x11/a” 18300 55.7 10000 L 2000P
- - = = - 11000 L 2000E
- 11000 L 2000A

= 2x1'/4” 5750 54.6 2x1'/4” 18650 70.2 12500 | 2500P
liste) 62 13 2.85 24/36/60 = - = = - 13750 L 2500E
125 62 13 2.85 - = = s - 13750 L 2500A
181 63 15.6 3.42 = 2x1'/2" 10300 67.7 2x11/” 9600 83.5 15000 L 3000P
188 63 15.6 3.42  24/36/60 = - = = - 16500 L 3000F
148 63 15.6 3.42 - . = = - - = 16500 L 3000A
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